
3" Anti-Tip Wheel Assembly
All Models



3" Anti-Tip Wheel Assembly
All Models

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1104811 Anti-Tip Wheel Assembly (Pair) 2 11 A
Locknut (5/16-18) 1 62
NLA - Washer, Nylon (35/64 x 1 x 1/16") 1 43
Spacer (5/16 x 1/2 x 3/8") 1 44
Washer, Nylon (11/32 x 11/16 x 1/16") 1 45
NLA - Screw, Hex Head (5/16-18 x 3-1/4") 1 26
NLA - Bracket, Anti-Tipper, Black 1 27
Screw, Hex Head (5/16-18 x 2-3/4") 1 28
Wheel Assembly (3" x 1") 1 29
Spacer (5/16 x 1/2 x 1/2") 1 410
NLA - Screw, Hex Head (5/16-18 x 3-1/2) 1 211
Spacer (5/16 x 5/8 x 2") 1 212

1143792 Kit, Anti-Tip Wheel Assembly (Pair) (For Formula
CG Powered Seating Only)

2 11 A
Locknut (5/16-18) 1 62
NLA - Washer, Nylon (35/64 x 1 x 1/16") 1 43
Spacer (5/16 x 1/2 x 3/8") 1 44
Washer, Nylon (11/32 x 11/16 x 1/16") 1 45
NLA - Screw, Hex Head (5/16-18 x 3-1/4") 1 26
Bracket, Anti-Tipper Extension, Black 1 27
Screw, Hex Head (5/16-18 x 2-3/4") 1 28
Wheel Assembly (3" x 1") 1 29
Spacer (5/16 x 1/2 x 1/2") 1 410
NLA - Screw, Hex Head (5/16-18 x 3-1/2) 1 211
Spacer (5/16 x 5/8 x 2") 1 212

1101757 Wheel Assembly (3" x 1") 1 29
A - Includes items 2-12 (Pair) NOTE:

 


